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· When Edward IV, from the York dynasty, died prematurely at the age of forty –one, his heir (son) was only fourteen years old. So his brother, Duke of Gloucester, became the heir and soon seized the throne. (when there is an internal conflict in the royal family, it has its own effects on the situation in England in general). Edward's brother, Duke of Gloucester, took over, killed the fourteen years old heir of the throne (Edward IV's son) and poisoned the queen. It was a kind of a rumor in England that he was the murderer. He publically appeared to his subjects denying the report that he poisoned the queen. But Later on, When Henry of Tudors claimed  his right to the English throne, nobody defended the Duke of Gloucester because he was a murderer; which weakened his position. Here, after we have the public scene of Tudors, we come to the close of the civil war (The War of Roses) at the battle of Bosworth when the Tudors defeated the York's.
Note:
You may have a question about the war of roses as an adequate essay

Changes that took place in the English society
during the fourteenth and fifteenth century 
1- The Appearance of a new middle class (Yeomen)
During the fourteenth century, England went through many wars. One of them was The Hundred Years War, and the second is a civil war. These wars had their effects on the texture of the English society. In what way? The great gap between the royals, lords, the upper class and the peasants has started to shrink or to grow less and less through the appearance of a new social class that is called the Yeomen. The Yeomen were originally peasants; mostly sokmen and this is the most important component of this middle class. The second component of this class is manufacturers of wool and wool textiles and traders. During the fifteenth century, England had a crisis of land and the norms could make good money. But Something occurred in England during the year 1348. That year  witnessed the breakout of the black death. Some historians say that the black death was brought to England by the Crusaders from the Middle East. It affected the growth of the English population great deal. almost one third to one half of the English population died of this plague. So, lands had no labors, no farmers to work on them. Too many people  perished because of the black death. The English population was reduced to almost half.  This made the demand on labor go high. Lands were left out without workers. So They became in a bad need of labor in order to eat and make money. Since the demand increased, the prices of labor has also increased. 
Before that time, Peasants used to work in farms for food only or in exchange with a piece of land (serfdom /commutation; one element of the feudal world), but because of the rising demand of the labor of the farmers, they started to receive cash money (wages) for their work. Now farmers could state their own conditions instead of commutation to the extent that most of the slaves during the fifteenth century were capable of buying their own freedom. The disappearance of slavery (unfree workers) in England was not due to a parliamentary or political decision. It came out of economic and financial need. When they replaced serfdom by wages, the slaves and farmers were able to have money to buy their own freedom. Therefore, Slavery and unfree labor started to disappear by the sixteenth century because of the black death that had rocketed the price of the labor. Since they can buy their freedom, they can lease their own land as well. So they were land holders by lease. Instead of working in the farmers themselves, they had their own farmers. 

2- They unifying of the texture of the British society
Concerning the texture of the British society, in late fourteenth century, the occurrence of The Hundred Years War, helped in unifying their fronts. The wars that happened during that time were local wars, later on, France started to attack England. So the British needed to defend their borders. As a result, everybody was needed in that defend; the yeomen , knights, lords, etc. Because they had a united front, their allegiance and loyalty is not any more to local wars. They started to have this national consciousness about defending Britain against its enemy; France. So this war drew the social classes closer to each other, through that nationalistic sense. So both the war and the black death had positive elements in creating the English nation as a race. Also when the social texture has changed, this had its own effect on the formation of the districts villages and hundreds. They are not anymore made only of peasants, there are traders, manufacturers and yeomen. The gap between the classes was getting smaller and smaller because they started to fight hand in hand against the French. so both wars and black death helped in the change of the structure of the English society through the introduction of a new social class, which is the middle class. By the nineteenth century, they realized how important this was.

3- Standardization of the English Language
During the second half of the fourteenth century, the English language has started to move towards a level of standardization. Our standard language is the (Arabic Fus-ha), and we have dialects. In England, during the second half of fourteenth century, there the mingling between Latin and French has relished. But they spoke in different dialects, the most distinguished of which was the Welsh and the Cornish. Before, the French was also spoken by royals, and Latin was spoken in churchmen. But by the second part of that century, neither French nor Latin been mother tongues of these classes. The royals would speak in English, later on they would be learnt in French. Not any more would they be speaking French in their infancy.  From ever since they are born, they are spoken to by English. They would learn English as their mother tongue and then later on learn French and Latin, but the mother tongue was English in spite of the differences of dialects. So, in the second half of the fourteenth century English has moved to standardization. 

The factors that helped in that standardization 
A- In the field of poetry; Geoffrey Chaucer, who was an official in a court, is  originally from London and he worked there. So he definitely speaks the dialect of London which is different from other dialects. Through his poetry, The Canterbury Tales, he established the patterns of the English poetry based on forms and meters derived from the Italian and French poetry. Every other poet else after him used these pattern and followed his foot steps in adapting these forms. His poetry was written verse. His poems were among the first books to be printed and published in England in the early fifteenth century. When he wrote  The Canterbury Tales he used his dialects ( the dialect of London) and everybody would follow his footprints. During the time of Chaucer, English was starting to recognize one of its most important traits or characteristics; which is the sense of humor. When most of their works are translated, a lot of the wit is lost in translation. The tone of The Canterbury Tales was serious and humorous. Not only serious. Through The Canterbury Tales they started to recognize this trait about themselves. Until now, Chaucer's poetry is considered a reference to all the other poets just as the holly Qur'an and the Jahili poetry are the references to the Arabic language. 
B- The second factor that helped in standardizing the English language was William Caxton. He was born in 1422. He originally was a merchant from London. He spent almost half of his life, 30 years, in London. Then he was introduced to the movable blocks and he developed an interest. He translated lots of books from French into English. During the first half of his life, he used his own hands in writing scripts, but when he was introduced to these movable blocks, he travelled to Cologne in Germany and he came back to England along with a printing machine.  This printing machine was placed at the first minister, this indicated that they started to be cautious of the importance of learning. From then on, Caxton translated, printed and published twenty books. Later on, this printing machine was used in printing other books. How did this affected the English society? this widened the circle of readers among the English population. When he translated, there were no dictionaries to consult. So he used his own dialect (the dialect of London) so this helped in making the dialect of London the standard language because it would be read by many readers. So people read this dialect, understood it and then it started to be adapted because it is the language of the books. Before this movement of reformation, the Bible was restricted to the clergymen. Anybody else did not have neither the skill nor the ability to interpret. So, it was restricted to the clergymen. But when the reformers appeared, there is no mediator between man and his lord. Bible was translated and even the commoners would understand the words of their lord. The translating of the Bible helped a lot towards the standardization of the English as a language. When they translated it, the books they had were all written, printed and published according to London's dialect. From sixteenth century onward no major changes was introduced to the English language except for few. 
End… 
